[ Efficiency vs vertpos |

< 0.1
20.09
4
20.08
(8]
§0.07
(&)
£0.06
0.05
0.04
0.03
0.02
0.0

1.0

UL LARNRARRE RRREN LAARN LAARN LMUAE RAE 1N RARAN RARLRRRRES

Ratio

=
T T I3

o
©
a

107 1

=
2
N

10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global_mKkFit10000__RECO

Efficiend —— DQM_V0001_R000000001__Global_mkFit1000_RECO
ICIeNd _,__ pQM_V0001_R000000001__Global__mkFit1000ATime RECO

~ 0.1

L (R SRS S S S

o F : : : : .
>0.08------ e R i e
> E : : : : :
2 E : : : : :
90-075— """ [ ﬂ """" i

S N ' T N

omp
: 1 et

0.03F -t}

002F 4l tH- g
00} * MLt

Vs

...............

0

Ratio
N

10 20 30
TP vert z (cm)

-10

o
15
o
o
|
o

Efficiency vs. sim PV z

I y |
N~ 0.2
> : : : : :
O R L e S
£ E : : : :
7 016 oo
L B SRRt L S
P E : : : :
o R S £
S T SN e
O R Y

0.06 . ‘+’ +++_¢++.,:+++"‘+!-+ -
0.04f-----cimenee freeeens R
0.02

efticie

1.0

Ratio

0 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


